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EREEXN
1000 kWY 2 1035 2 1 035 - - - -
1000 ~ 2500 - - - - - - - -
2500 ~ 5000 2 8 200 2 8 200 - - - -
5000 ~ 10000 4 27 400 4 27 400 - - - -
10000 ~ 25000 1 14 200 1 14 200 - - - -
25000 kWLL | 5 4 525 000 - - 4 3 125 000 1 1 400 000
H % H
1000  KWAi 17 5915 10 3 057 7 2 858 - -
1000 ~ 2500 7 12 000 4 6 550 3 5 450 - -
2500 ~ 5000 8 30 285 2 7 000 (§) 23 285 - -
5000 ~ 10000 3 22 420 1 6 500 2 15 920 - -
10000 ~ 25000 11 178 730 2 34 000 (§) 103 130 3 41 600
25000 kWL E 18 2 663 950 - - 17 2 637 700 1 26 250
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